FITTING INSTRUCTION Theinstruction of the assembly

Clamp mark ___ 1. For the purpose of installings of the towbar onght to disassemble
|y acewih | Cablesjoining the bumper (tubular) and its handles which will e assembled
1 L Left directional lights again .
2 + Rear fog lights 5 . . . .
3 31 [Ground 2. From the right and left side of the frame fiatels (pos. 4) and side
TSR | R prhe e 4 g brackets (pos. 5 and 6) using bolts M12x1,25x40rpos.( 10) — fix
6 | 54 [ Stopights < /E loosely (see the drawing).
7|56 | Lefiside parkng ghts S 3. Fix the bumper to side brackets (pos. 5 and @etowbar — use bolts
M12x40 previously unscrewed from factory handles.
M12xd, 25x4( M12xd5 4. Slip the main bar of the towbar (pos. 1) betwelements of the towbar

(pos. 4) and fix using bolts M12x40mm (pos. 9).
5. Fix tow-ball (pos. 2) with socket plate (pos.u3)ng bolts M12x75mm
(pos. 7) from accessories.
Tighten all bolts according to the torque shamvthe table.
Connect electric wires of 7-poles socket aceydo the instruction of
the car. (Recommend to make at authorized sertatiers).
8. Complete paint layer damaged during installation

M12x40

M12x1,25x40

No

Torque settings for nuts and bolts (8,8):
M 8-25Nm M 10- 55 Nm
M 12 -85 Nmr M 14 - 135 Nn

M12x45
M12x1,25x40

NOTE

After install the towbar you should get adequateenno registration book
(at authorised service station).The car shouldjogpped with:

This towbar is designed to assembly in followingrsca * Indicators
NISSAN NAVARA (D40) with tubular bumper , produced since « Tow mirrors
05.2005, catalogue n¥.63 and is prepared to tow trailers max total weight After 1000km check all bolts and nuts. The baltmfbar must be always
3000 kg and max vertical loati20 kg. kept clear and conserve with a grease.

From manufacturer

Thank you for buying our product. Their reliabilityas been confirmed in
many tests. Reliability of towbar depends also omext assembly and right
operation. For this reasons we kindly ask to reagfally this instruction and
apply to hints.

The towbar should be install in points described by a car producer.



Towbar accessories:

Pos.

1

Neme: Main bar

Quantity: 1

t

veme: Right bracke
Quantity: 1 //
0

nveme: Bolt 8,8 B
Quantity: 10

M12x1,25x40mm

2

PPUH AUTO-HAK SJ.

Produkcja Hakéw Holowniczych
Henryk & Zbigniew Nejman
76-200 SLUPSK ul. Stoneczna 16K
tel/fax (059) 8-414-414; 8-414-413
E-mail: office@autohak.com.pl
www. autohak.com.pl

AUTO /0

[
Pos. |name: Left bracket D) |Pos  Name: Nut 8 B
6 Quantity: 1 _/ 1 1 auantity: 10 <>
) [om: M2 @‘
o %
00 ~
Pos. | Name: Tow ball Pos.  |name: Bolt 8,8 B Pos. | Neme: Plain washer
2 Quantity: 1 7 Quantity: 2 1 2 Quantity: 20
oim = M12x75mm om: # 13 mm
Pos.  |Name: Socket plate Pos.  |name: Bolt 8,8 B Pos.  |Name: Spring washer
3 Quantity: 1 \\ 8 Quantity: 2 1 3 Quantity: 20
) \ om - M12x45mm om - ® 12,2 mm @
Pos. Name: Plate 7 Pos. vame: Bolt 8,8 B Pos. Name: Ball cover
4 Quantity: 2 9 Quantity: 6 1 4 Quantity: 1
Dim. : 12x40mm

Towing hitch (without electrical set)

ClassA50-x  Cat. noV63

Designed for:
ManufacturerNI SSAN
Model: NAVARA (D40)
with tubular bumper
produced since 05.2005

Approval number according to Directive 94/20/EC: €20* 94/20* 0095* 00

Technical data:

D-value:14,5kN

maximum trailer weight3000 kg
maximum vertical cup load:20 kg

Foreword

This towbar is designed according to rules of safetyitraégulations. The towir
hitch is a safety component and can be install daylyqualified personnel. Al
alteration or conversion of the towing hitch is lplbted and would lead
cancellation of degn certification. Remove insulating compound andlarse
from vehicle (if present) in the area of the matsurfaces of the towing hitch.
The vehicle manufacturer’'s specifications regardmager load and max. vertic
cup load are decisive for drivg whereat values for the towing hitch cannc
exceeded.

D-value formula:

Max trailer weight [kg] x Max vehicle weight [kg]

9,81 _
1000

. . D [kN
Max trailer weight [kg] + Max vehicle weight [kg] [ ]



